:(3000)ZHINLHI 2 (3100) 54 A 5t:(3130) 52712 Mg (3131)E2 ) KIAIEE: (110) 01 24 b CEIGE R
o oo o | o A = 9l =
X P s N HAE = of A o x o oo
3000 (2 A111.220 & 3.899.630 X 15.000 2  335,000]
2 e 39.724.271  35.558.046|  4.166.225 [Dl 0 = 27,815 0 ]
3100 (2 A111.220 & 3.899.630 X 15.000 @  335,000]
NS 30,724,271 35.558.046|  4.166.225 [D| 0 = 27815 1 0 ]
3130 (2 A111.220 & 3.899.630 X 15.000 2  335,000]
=02 39.724.271  35.558.046|  4.166.225 [Dl 0 = 27,815 0 ]
3131
zopz 10.679.680, 10,595,480 84,200
100
24 ALOf AF 10,411,012, 10,326,812 84,200
110
o124 H| 9,239,512 9,171,512 68,000
101
o124 H| 9,239,512 9,171,512 68,000
303,880 296,880 7.000/04 DEExH|
cDEZXH 303,880,000 - 296.880,0008 = 7.000
483,022 458,022 25.000(05 &= Syl
N E S 483.022.0002 - 458,022,0008 = 25.000
799,370 763,370 36.000/06 JHH Xl 2 bl
SIIAXI 2 b 799,370,000 - 763.370,0008 = 36,000




Z:(3000) A MMLH  2:(3100) s 440 2| &:(3130)=900| % HI&t: (3131) B2 22l ML : (120) 2 AR 2 | EENERREED
ni; = p) P! 2 5
Of &b of l @ o = p) x
X2 st ME L HIAIE = of & | = A" o
120
AR A| 1,171,500 1,155,300 16,200
203
eI 91,790 90,590 1,200
55,200 54,000 1,200(04 AL H 2=
© Ol AMOEE A B & 3,000,0009 - 1,800,000& = 1,200
204
N A 597,600 582,600 15,000
Bl
412,800 397,800 15,000(02 X282 x4
oXNZ P XY 412,800,0002 - 397,800,0008 = 15,000
3132 [= 301,435 & 691,917 X 0 2 335,000]
sz el 5,625,154 4,296,802 1,328,352 [J| 0 = 0 m 0 ]
200 [= 301,435 = 691,917 Xl 0 2 335,000]
AHSOfl AF 4,313,374 2,985,022 1,328,352 [l 0 = 0 0 ]
210 [= 301,435 & 917 X 0 2 335,000]
BEAY 2,580,184 1,942,832 637,352, [l 0 = 0 m 0 ]
101
o124 H 170,737 33,007 137,730
170,737 33,007 137,730 10 LAIAtS Q1520

-2 -



Z:(3000) B HMIJHEHI  2:(3100) === &KL HI 8:(3130) =g Dl= Mg (3132) 1S 2el HIAIE: (210) B = At [E2E][ER: ]

ot =2 J| X 2 3
- - O]l At o A = Il -
KB B AR AIAIE = IR R T N - N
CAEBIHY TS = 105,230
(=) 105,230
oXUESIIE WL = 32,500
(=) 32,500
201
U2 A Y| 57,516 31,284 26,232
57,516 31,284 26,232|01 LB A Y|

oIS ESHEFARE
(=22,330,0002 + &1,000,0002) - 5,278,000& = A1,948
(=) 1,365
(%) 583

S| HS LS AE DR

(=3,368,0002 + £3,368,0002) - 6,586,0008 = 150
(=) 75
(%) 75
SAEZSIHLZSHIAIY 24,530
(=) 24,530
K201 ¥ EEAE 1,000,0002 x 33 = 3,000
(=) 3,000
- AN EHISX 1,000,0002 x 103 = 10,000
(=) 10,000
CsSI|H Y GHRA Ly 1,153,0002 x 103 = 11,530
(=) 11,530




Z:(3000)Z MKl 2:(3100) 5= A g:(3130)=s0I= Mgt (3132) 71 &L 2el NIAIg: (210) 2 R ALY [(2F][E:dA]
ot = ol A ol Il 8| 3 3l a J) =
.2 g Mg MAE == o &b x oy oA
oY Sa Jlsoig HAY Al EHl7 A = 3,500
(=) 3,500
202
04 bl 130,510 58,270 72,240
113,560 41,320 72,240/01 =LH0 Y
cHEALAS I EEXA
5,100,000& - 5,000,000 = 100
(=) 100
cHEBNESS A+ = 59,140
(=) 59, 140
oG Sallsie AFA = 13,000
(=) 13,000
207
e = sl 65,930 2,630 63,300
63,300 0 63,300/03 Al& & <H
cHEBNE 55+ 373,000& x 1005 = 37,300
(=) 37,300
oS Salsne A7 ME 130,000& x 2005 = 26,000
(=) 26,000
301
getgds 40,900 36,050 4,850




X:(3000)ZHNLHl  2:(3100) s 2= AHH 2] 8 (3130) =90l = MIE:(3132) D1 =0 22 RIMIE: (210) B XA EENESRSED
i = J P! 2 5
Of &b of l @ o = p) x
Rt 2H. 8 MIE. MIMIE 2 O]l &b oM E
40,900 36,050 4,850(10 SHALAIHI B A2
CI|HBIYSA DS
(216,050,000& + £16,050,0002) - 27,250,000
= 4,850
(2) 2,425
(%) 2,425
307
0I2+0| & 815,000 560,000 255,000
815,000 560,000 255,000
Z2HAH REXL
,000,0002 - 560,000,000 = 255,000
() 255,000
402
01220 420,000 320,000 100,000
bS]
420,000 320,000 100,000
g SIIX 4,000,0008 x 550t = 20,000
(2) 10,000
(%) 10,000
AR =X




Z:(3000) 2 HIJHLH]  2H:(3100) s 2= A 8:(3130) s 0|= MIBt: (3132) D= =2 MIAIEE: (210) 2 ALY EESMEERSE)
ok = ) x4 = =
o A o | = 3l At 2 o] =
.2 HIE A = R -
400,000,000 - 320,000,000 = 80,000
(=) 80,000
405
HAHE S 871,000 893,000 222,000
871,000 893,000 A22,000/01 XHAHLSEZH S|
ozsJlHuUE=H &I
(=27,500,0002 + &£7,500,0002) - 37,000,000<
= A22,000
(=) A 11,000
() A 11,000
220
XA AL 1,733,190 1,042,190 691,000
207
=y T3] 701,000 680,000 21,000
621,000 600,000 21,000|03 Al& & 24|
CUUEMATIZNE HRE 2 = 21,000
306
=012 100,000 0 100,000 o Ui =2 X0FH HPAIA S &0 =A = 100,000
405
KHAE S 686, 190 116,190 570,000




X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] 8 (3130) =90l = Mg (3132) ] & oHer el RIAI8E: (220) Kb AF EEMEEERCE]
i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
686, 190 116,190 570,000(01 KA ESEFSH
oHIOIQUIEE RIHHREH| = 30,000
OQTI(NA) A NEZ TEAAH A= = 140,000
CoDNEZ OMZAS QSAIAH = = 400,000
3133 [2 A847,355 & 909,883 Xl 0 0]
piES== 16,173,885 16,083,542 90,343 [2I 0 2 27,815 1 0 ]
200 [2 A847,355 & 909,883 Xl 0 = 0]
AR Ol AF 15,861,433 15,771,090 90,343 [2I 0 = 27,815 1 0 ]
210 [2  AB847,355 &  A21,442 X 0 0]
SXAY 11,247,672 12,116,469 A868,797| [DI 0 2 0 o 0 ]
201
B2 Y| 36, 120 38,620 22,500
34,920 37,120 A2,200/01 LBr2H|
odx=4-H3 84 X 4,000,000 x 10HA = 4,000
(=) 2,000
(%) 2,000
CMESSZHLKNES ME5} = 26,200
(=) A3,100
() A3,100
1,200 1,500 A300(02 A2 H|




ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3130)=gols Mg (3133)d|sE 522l NIAIE: (210) E R A Y (=3[ dE]

ot =2 Dl S| 2 3|
Off &b of A = o] =
.2 S NIE MAIE = of  Ab oM =
oMIESEZ0Y M0 ZHAE
(=600,0002 + £=600,0002) - 1,500,000 = A300
(=) A 150
(%) A150
202
04 46,920 40,604 6.316
28,920 21,604 7.316/01 204 HI
oSt ISI|=HYAMHIA H2ZX = 12,170
(2) 6,085
(%) 6,085
ocMISZZ0Y AMES JNI=XS
(22,500,000& + £2,500,000&) - 8,000,000 = A3,000
(2) A 1,500
(%) A 1,500
CSEXNTERY M2 AHARG FHA
(=3,375,0002 + £3,375,0002) - 8,604,000& = A1,854
(2) N927
(%) N927
18,000 19,000 A1,000/03 =22044|
CMIESEZ0Y AMES M HXIY oA
(=1,500,0002 + =1,500,000&) - 4,000,000& = A 1,000
(=) 2500




Z:(3000) Z KK ] 1(3100) s 2 &t:(3130) = M8t (3133)01=2 2 HIAIBt: (210) 8 R ALY EENEGR-E)
L = o o Y| 2 3| . =
2.8 NIE HIAIE =2 &b oM =
(%) 2500
206
TH2 I 20,650 26,650 26,000 S0 0SS MEFAIY W2
(=3,000,000& + £3,000,000&) - 12,000,000&
= 26,000
(2) A3,000
(%) A3,000
303
ZAZ 16,800 17,500 AT700 E A&
) - 1,500,000 = AT700
(=) A 350
(%) A350
307
QI2t0| & 137,000 289,240 A 152,240
137,000 289,240 A 152,240
saleld or3taiol IZIRE N (U2ZH)
= A37,040
(=) A 18,520
(%) A 18,520
A sl or3taI0| ENR(WSZEH)
= A 115,200
(=) A57,600




X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] 8:(3130) s 0|= Mg (3133) 01222l MIAIEE: (210) 2 ALY 2] [oe @]
i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
(%) A57,600
308
XX SIS 1,554,212 1,368,135 186,077
o1&
1,554,212 1,368,135 186,077 /01 RXISHZBAEXZ
oS IIAYHAEHH 2=
93,225,0009 - 93,400,0002 = A175
(=) A175
OSMEBASTAIRAM BAXT AL
70,794,0002 - 58,474,000 = 12,320
(=) 12,320
oI E2XES
113,453,000 - 78,358,000 = 35,095
(=) 35,095
olstA=I = EAMHIA A5t
613,500,000 - 500,585,000 = 112,915
(=) 112,915
OBIR=AUXMIE N ZSHM AISZE|AY
31,000,000 - 30,500,000& = 500
(=) 500
ox=d|HusEdN
13,880,000 - 9,750,000 = 4,130
(=) 4,130
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ZH:(3000) B MIOHEHl  2:(3100) === &HH 2 H &:(3130)=gols HIE:(3133)) =2 =2l NIAIEE: (210) B =AY [E2E][ER: ]

ot =2 Dl S| 2 3|
ol & o b 2 Il =
.2 E NS AAE =2 of  Ab oM =
oM IolH AN
416,460,00094 - 395, 168,000 = 21,292
(2) 21,292
403
MXSHS 7,764,750 8,664,500 899,750
X201 ™
7,652,510 8,664,500, ~1,011,990(01 X XISH A2 X
OMIIEESAIEAS
1,185,060,0002& - 1,497,350,000 = A312,290
(=) A312,290
OSASERNZF MACHK 24
316,500,000 - 697,300,000 = 380,800
(2) 380,800
o= THoHOIE AlY 160,000,000 x 50% = 80,000
(2) 80,000
CSHNSESHFIAIY
658.,000,000& - 1,015,000,000% = A357,000
(=) A357,000
oS EMEHAGAIY
1,197,500,0002 - 1,185,500,000 = 12,000
(2) 12,000
o=J|HISEHEH
214,450,000 - 268,350,000 = 53,900
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X:(3000) 2 HINLHl  2:(3100) 4= AHH Y] 8 (3130) =90l = Mg :(3133) 012222l HIMIE: (210) B EAFY EEMEEERCE]
i = J P! ] 5
oo oo | = @ & = ] =
I 2 S MIE. NIMIE 2 O]l &b oM = 3 o
(2) A53,900
112,240 0 112,240(02 2| 2tS I CHEHCH & A H
oXG=ASARIH OFIIHIDI 2LH QIS DN (U2HE)
= 24,000
(2) 12,000
() 12,000
oXlY=ASAZH OtHI0l dHe AEDNS(U2EH)
= 88,240
(2) 44,120
(%) 44,120
220 [=2 0 = 931,325 Xl 0 0]
XHHI A 4,613,761 3,654,621 959,140| [J| 0 2 27,815 1 0 ]
307
0I2H0| A 315,600 285,600 30,000
198,000 168,000 30,000({04 QIZHHALE =
o193 SEX X 22U 3
60,000,0002 - 30,000,0002 = 30,000
308
XIS S 651,715 524,890 126,825
o1&

_12_




Z:(3000) B HMIJHEHI  2:(3100) === &KL HI &:(3130)=gols Mg (3133)d|sE 522l NIAIES: (220) KR ALY (=3[ dE]
ni; = Il 3 = 2l
Of &b R A = Il =
.2 g A MAE =2 Ol &b M = &3 %
651,715 524,890 126,825/01 NHAISHH B EEXS

0% = 19,200

47,250,0009! - 38,250,000 - 9,000
oMEINME HEX X
17,0002 x 15,000 x 30% x 7/12 = 44,625
OSEXTAIY E=XTIL AlA 30,000
CSEXCAYGAIY 22|12 QMES X = 20,000
CKIHEME TIIKALAIR S22 QHES X
- 10,000
ORBAHONG LTS TEX
39,000,0008 - 15,000,000 - 24,000
401
NEE[EE 29,500 0 29,500
CH|
29,500 0 29,500(02 Z2/Hl
ollsHAl2 22l = 13,400
oTARISAME 2 22l = 16,100
403
XX SIS 3,589,010 2,816,195 772,815

_13_




Z:(3000) A RINLH  2H:(3100) 54 AN H] &:(3130)=900| % Ml (3133) 012222 I HIEE: (220) X &l AL S 28] [c9 ]
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
=0l ®
3,589,010 2,816,195 772,815/01 AXI S22 =
O XIS A A XIS (X2H0] )
647,110,0002 - 619,295,000 = 27,815
(2) 27,815
CSHMESITR T4 200,000,0002 x 50% = 100,000
oXNENS WIIXG SHAY
450,000,000 x 30% = 135,000
oAXZAMAYS J=AIHX
18,750,0009 x 167HA x 30% = 90,000
OCSMEEXTL(GAP)QIZE NFAAH REX
200,000,0002 x 2HA x 30% = 120,000
osl|aHMEH JISAE AEXN
600,000,0002 x 50% = 300,000
3134 [= 434,700 & 2,213,630 Xl 15,000 = 0]
NERSH 6,147,755 3,484,425 2,663,330 [Jl 0 = 0 0 ]
100
2 A0l A 1,133,207 1,119,577 13,630
110
0121t 593,930 580,300 13,630
101
01214 593,930 580,300 13,630

_14_




&(000)BMMLE 2 (3100)E+aN L 8:(3130) =201 % HIE: (3134) A Bl 2 HAIE: (110)2121H ERNERIE
ni; = p) P! 2 5
ooeooy | ® & £ ] L
ABLE ONE NNE = o & % | x A o
503,930 580,300 13,630 10 Al Atei 012l
oTMINFAIBE 13,630
NERZE 9 BEpe
36,200,002 - 24,200,0002! - 12,000
2A Y M EE S
3,800,002 - 2, 170,0002! 1,630
200 (2 434,700 = 2,200,000 X 15,000 0]
AP0l &) 5,014,548 2,364,848 2,649,700 [J] 0 = 0 0 )
210 (2 434,700 = 200,000 X 15,000 0]
2 A 1,493,700 844,000 649,700 [0l 0 = 0 @ 0 ]
101
01 24| 162,575 0 162,575
162,575 0 162,575/ 10 2 Al Aot oIzl
oEMEINEE 18,585
(= 18,585
XHEBIIE e
29,5002 x 52 x 1262 18,585
(2 18,585
SROIENIENE R 25,550
(= 25,550
NEZHY BEoT 2,360

_15_




X:(3000)ZHNLHl  2:(3100) s 2= AHH 2] 8 (3130) =90l = M : (3134 AN E RS HIMIE : (210) B EAFY EEMEEERCE]
nj; = 7 = = 5
off & o = < A = ol =
X P s N HAE = of A o x o oo - -
- IO 29,5002 x 191 x 402 x 2MHA = 2,360
(=) 2,360
XNEESIIs W 23,190
- AEEX 31,5002 x 491 x 1254 = 15,750
(2) 15,750
- IR 31,0002 x 291 x 1204 = 7,440
(2) 7,440
o HUNI| KIAI S B 22,180
(2) 22,180
KNHEESIIE e 22,180
- NEBE=X 30,0002 x 3% x 150 = 13,500
(=) 13,500
- IFL 28,0008 x 5% x 622 = 8,680
(=) 8,680
o (| AF2BHAIE A 35,560
(=) 35,560
CKYESD|E e
28,0002 x 8% x 150Y = 33,600
(2) 33,600
CAEEHY 2SR 28,0008 x 1% x 704 = 1,960
(=) 1,960
o Ef QHEH B Al S & 33,360
(=) 33,360
AEZEHY BSHP = 8,460

_16_
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Z:(3000) B HMIJHEHI  2:(3100) === &KL HI &:(3130)=gols Mg (3134) A8 E2d NIAIEE: (210) B = ALY [E2E][ER: ]

! =2 J| eS| 2 3
Ol &b o R A = 9l =
KB B AR AIAIE = IR R T N - N

XNEESIIE W 1,784

- NYES Iy dPE
71,3602 x 25& = 1,784
(=) 1,784
CHHENEASHA 7,835
(=) 7,835
MEZENY ZESAHR 1,840
- UBtA 2] = 1,840
(2) 1,840
KNHEESDIIE e 5,995
- U224 = 395
(=) 395
- ozl = 3,600
(=) 3,600
- A& &Y S b = 2,000
(=) 2,000
o H AN KIAIE A 6,374
(=) 6,374
XNEESIIE W 6,374
- Ut 2| = 4,394
(=) 4,394
- ozl = 1,980
(=) 1,980
ol A2SHAIE & 10,780
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A

Z:(3000) 2 MKl 2:(3100) =4 5t:(3130) M8t (3134) A E RS HIAIE: (210) 8 R AL | &2l ]
. = oH = . &t J|
.2 E NS AAE =2 = 3 o
- NREE S 3 100,000& x 30& = 3,000
(2) 3,000
- 893 ¥ ®=2It
50,0002 x 4% = 1,000
(2) 1,000
- NEAZ s
200,000 x 8 = 8,000
(2) 8,000
- ANEZAE AR} 2,0008 x 3,000® = 6,000
(2) 6,000
- SO YR 100,000 x 203 = 2,000
(2) 2,000
- NEEY 2] 270,0008 x 10& = 2,700
(2) 2,700
202
04 81,340 81,340
66,840 66,840/01 2LHOIHI
o=ALIIAIEE 7,200
(2) 7,200
NEESI|Es Hed 7,200
- NYGES Iy 2=
120,0009! x 6% x 103 = 7,200
(2) 7,200
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Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8t:(3130) s )|= Mgt (3134) A E B2 HIAIE : (210) EL R
. = of Ab o ’! = = . &t =
.2 E NS AAE =2 of & M = B o
207
=l =T 123,657 123,657
123,657 123,657|03 Al& 12|

o=ALIIAIEHE 22,431
(2) 22,431
NEE3|s HgoA 22,431

- NY9Es a2y o
186,92591 x 60F x 2 22,431
(2) 22,431
OHUANI|KIAIEE 14,326
(2) 14,326
NEE3D|s HgoA 14,326
- NESSUM W2 = 14,326
(2) 14,326
o0l AFRBIAIE 20,780
(2) 20,780
CNYEEEI|E LA 18,880
-3 = = 18,880
(2) 18,880
AEEHY BsHT 1,900
-A3W2 = 1,900
(2) 1,900
SEHQHHEIAIE H 43,620
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Z:(3000) B ROKEHI  2H:(3100) 52 AJH ] 8t:(3130) s )|= Mgt (3134) A E B2 HIKIBt: (210) 8 R ALY EL R
. = of Ab o 7! s = . &t = J| =
.2 E NS AAE =2 of & M = B o
(2) 43,620
CNYEEEI|E LA 34,100
- SSMMFT W2 3,410,000& x 10& = 34,100
(2) 34,100
AEEHY BsHT 9,520
- S2eSHA JMEE W2

952,000 x 105 = 9,520
(2) 9,520
O IMOIMATAISEH 22,500
(2) 22,500
AEEHY BSAHTP 900

- NEAR THE L Al
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- NEAR THE L Al
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(2) 5,000
- B8 4 30,0008 x 40& = 1,200
(2) 1,200
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X:(3000)ZHNLHl  2:(3100) s 2= AHH 2] 5:(3130) 0| M&: (3134) A B RS RIMIE: (210) 2 X AF =] [oe M
i = J P =] 5
Of &b of l @ A p) =
Rt 2H. 8 MIE. MIMIE 2 of  Ab oM E
CHHl
795,560 595,560 200,000/01 Al&H]
SOl AF2SHAIE & 200,000
2 EHTELA E22
(299,280,000 + £299,280,0002 ) - 198,560,0002
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XHARE S HI 238,500 238,000 500
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(X1) 500
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Xt A A 3,520,848 1,520,848 2,000,000
401
N 2,482,000 482,000 2,000,000
CHHI
2,482,000 482,000 2,000,000/01 Al&HI
OQIAOEZ A A X0 2,000,000
N = & 39,724,271 35,558,046 4,166,225
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